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~ Error

Undefined value found
~Detail: Undefined value found in the equation residual vestor
There are 7719 degrees of freedom giving Nall/Inf in the vector for the variable modl wH20c
at coordinates: (0.00339344.0,0.00158). (0.0.002.0.00153), (0,0.002.0.00158). (0.0.002.0.00165687). (0.0.00192628,0.00158)
There are 7719 degrees of frecdom giving Nall/Inf in the vector for the variable modl w02
at coordinates: (0.00339344.0.0.00158). (0.0.002.0.00153), (0.0.002,0.00158). (0.0.002.0.00165687). (0.0.00192628,0.00158)




